Array Antenna Animation
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a point source

n=1;
a[l] =1.; xs[1] =0.; ys[1l] =0.;

2-element array

n=2;
a[l] =1.; xs[1] =-2.; ys[1l] =0.;
a[2] =1.; xs[2] =2.; ys[2] =0.;

4-element array

= h = 4;
a[l] =1.; xs[1] =0.; ys[1] =0.;
a[2] =1.; xs[2] =0.5; ys[2] =0.;
a[3] =1.; xs[3] =1.0; ys[3] =0.;
a[4] =1.; xs[4] =1.5; ys[4] =0.;

Graphics and Animation

nel= W= 2 % 7}
PIX_, Y 5 i1 t= 4 (x-xs[i1)%+ (y-ys[i])? ;
EXp[-I*x2*x7wxr[X, Yy, i]

rix, y, il

L1, n}]

Fc[x_, y_] :=Sum[a[i] *

fix_,y_,t ] :=Re[Fc[x, y] *Exp[I+xw=*t]];



2 | array.nb

o~ DensityPlot[f[x, y, 0], {X, -3.75, 5.25}, {y, -4.5, 4.5},
EETO b
Mesh - False, PlotPoints -» 100, FrameTicks -> None]
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Out[10]=

Table [fensityPlot[-F[x, y, t1, {x, -3.75, 5.25}, {y, -4.5, 4.5},
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Mesh - False,

PlotPoints - 20,
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FrameTicks - None],

|#E % L#L

{t, @0, 1-0.001, 1/8}]



